[N of reco track vs normalized x2 ]

| N of associated (recoToSim) tracks vs normalized x?

N of associated (recoToSim) looper tracks vs normalized x*

12 14 16 18 20
track x?

IS e © IS <
= 105k = 105._ = =
E ] E ] Q
E E F = g,
F = F = © 10
I I o
10°F 10°F 3
10°F 10°F
10°F 10°F
10 E
g weftHHe g ef ) )
© o I © T
[N SRS 14 o 14
0 2 4 6 8 10 12 14 16 18 20 12 14 16 18 20 3468 10 12 14 16 18 20
track x2 track x2 track x2
T RN oA Step2— e phasETewgeoTy
[(Rorcaarve ] — B BRCPE o BAlec o BB, 89 Rl phaset newgeom =
1%} 2] F 0
S s E S
S, 5 a IS
5 10°F 5 £
g Bl PR = g
2 s E 8
10°E ] s
=3
- o
10°E -
2 s &
10k -
<} )
I k20 ©
ox HHIHH | Hl @

ll

‘ H
LR

e




	Contents
	Page 1


